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Problem quickname: 1444

1)

Simplify, remove the parentheses by multiplying out and combine like terms.
a) 4(b+ a)* b) (x + 3)%x ¢) (z — 15)%x d) (54 z)%x

e) (a+b)*-4 £) (b+a)(b—a)2 g) z(z + 15)* h) a(a — b)*
i) 3(a + b)* i) 3(11 — a)?

2)

Simplify, remove the parentheses by multiplying out and combine like terms.
a) (a —4)? — a2 b) (a — b)? — ba o) (x—y)? —yx

d) a® + (a + 16)(a — 16) e) ab+ (b — a)? f)(2—a)—22

g) (x+T7)(x—T7)+Tx h) 7z + (7 + z) D (y+a)? —ay

i) 22+ (z — 20)?

3)

Simplify, remove the parentheses by multiplying out and combine like terms.
a) 8(b + a)? b) 7(a + 6)* ¢) (a—b)%-3 d) (11+a)?-5
o (@+y)’-7T  D8+y? g (d-a)6  h)2013+a)
i) (44a)%-7 i) 10(5 + )?

4)

Simplify, remove the parentheses by multiplying out and combine like terms.

a) yr + (x + y)2 b) 3(b — a)2 ¢) (x4 5)(z —5) + 22
d)8—|—(b—a)2 e) (y+x)(y — )+ ay f) (:p—14)2+x2
g) (20 —a)? — 4 h) (12 —a)®-7 D) (z —y)? + 10 i) 8(b—a)?

Good Luck!
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